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IRGL | SR BFL JUHF [ S1)|S2|S3|S4|s5|s6|s7|sS8|s9(s10 E D H Time Pen Total
1 10 BAHEx INERTE INRESURYD 95T 51114 (2|3 |32 (3|64 16.5 26| 9.55| 11.040 0.0 39.690
2 9 ZRK=E A5 AIL INRESVRY 95T 4 |15 (4112 |4 |3(4]2]|2 |6 16.3 0.8 10.00 | 10.050 0.0 37.150
3 7 I 2= 9% hik bS5 RYOTTLUFF 6 |5 |4 (4|46 |5 (4|48 14.9 1.2 1 10.00 9.540 0.0 35.640
4 1 FEAE TFE =T BRELSURYD 95T 516 |6 (6|6 |5|5([4]5]6 144 0.8 9.95| 10.140 0.0 35.290
5 8 8 HEH +h/ == BARNURY 95T 4 |5 |7 |5|6 |4 (6|6 |47 144 08| 9.85 9.575 0.0 34.625
6 5 g AH DR}~ I3 MaHaRob SR 95T 6 |6 |7 |6 |6 |6 |6 ([6 |65 14.0 0.7 9.70 9.980 0.0 34.380
7 6 RBREAnlE ko Il BANURYUHST 4 14 (5|4 |8 |8 (6 |4]|4|7 14.6 0.8 | 10.00 8.105 0.0 33.505
8 4 Al 52 —iFh Fa INRESVRYD 95T 6 |6 |7 |6 |7 |6 |6 ([4]6 |6 13.8 08| 9.85 8.690 0.0 33.140
9 2 WHE mER IVSE ET) INRESVRYD 95T 6 |6 |6 (7 (88|76 |68 12.8 08| 9.85 9.300 0.0 32.750
10 3 KE #d FAYV/ ARk MaHaRob SR 95T 6 188 (8|6 |6 |6 (6|78 13.0 0.7 9.95 8.405 0.0 32.055




